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1-9 HW Answer Key

1. Roots and zeros are similarin that they both refer to
the same point graphically where the function or related
2. (2x+3)(x-2)(x+2) function crosses the x-axis. They are different in that
” roots are algebraic solutions to a given equationor an
3. x%(3x-2)(3x-2) equation formed by setting the function equal to zero.
4.{1/2} Zeros are where the function crosses the x-axis (x-
5.{3/2, -4} intercepts) or where the y value is zero.

6.{-2,+1}

7.{0,5,2)

8.{0, 3,25}
9.{+3}

10.{#2, +5}

11. (2x-5)(4x%+10x+25)
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1. Explain :ﬂm is similar and what is different between roots miims. fer
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=36
= KA B3 (% +3) = XA E V0 4 ) fs-'ﬁk
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= (hx ) (XA 0L) = ¢ [3x(3x-2 )-2€3x-20)
=x=(3x~%) (3:—:1)

For the following: o X*=(3xX-2)

a) Algebraically find the zeros of the function,

b) Check graphically on your calculator by sketching the function and labeling the
x-intercepts/zeros.

¢) Check algebraically by substituting your solutions into the equation.

da, f(x) = 4x" - dx + 1 b. Graphic check ¢. Algebraic ch -
Hy byl =0 ;.jf g ]L"i’igi:"}*k =0

:-“.-'1"..1-,‘-'-11 =0 -1+ ‘I‘ET{ }.... a2+ | =0

2y (¢ =) -H2xY=0 | =2t =0

(2~} (—)=0 O=0 v
= = i
Et;:‘:ﬂ X 1‘;‘1 533
X=\o
Ba. f(x) = 2x" + 5x - 12 b. Graphic check ¢. Algebraic check
QA HESK=Ia=0 = ;f_q]L+j{q}~iL:ﬂ
K H X =3x- | A=D 5'?3 3.:.1::1-1:1:»{5(3,
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ba. f(x)= %’ + 2x° - x - 2 b. Graphic check
W 2tavt-x= =0
N Z(¥YL) -1E}1 r2-y=0
AT =
EL- i\}‘;{-{*t JLa= lnﬂ :
x= A=A = £

E’ :‘“:t I'IS

¢. Algebraic check
(-2 >+l Ly r-{)-r=p
. AL -1 =0
T+¥ AL,
(3 +(1)t -] -2=0
R
()2 Fe-) = ~{(-1) =220

L‘]‘ i;)

O R B
! D=0 V"’
Find the zeros of the following functions by factoring. Mo checks.
7. f(x) = 3x* - 21" + 30 8. f(m) = m® - Bm? + 15m
3}‘«&_1’“(51.-5{1’{-.-' =0 F':"ﬂ mj-%knb | Sn-=0 P‘iﬁ
=X £10) =0 L2 iRt 1—:5%:& S50
3xM(X=s5)(2)=0 m (m==s)(n=s)=0
- T S B0
wWaTy=sT x=o- o s e

- M::r!r ';H"'}";-
20,533 Zc:h';rré—a‘, :rhfﬁ"g

Find the roots of the following ecuations by factoring. Mo checks.

9. 3% = 27 10, »* +f00 = P 4T ¢ =100
3x+-27=0 xl—aa- wo=0 (7T

3(x*-4)=0 (Y=es)(x=1)=0 7 .

(Xt3) (k3170 (35 ) (x5 X1 XK2)=0 "7

X:.-ﬂ?*ﬁ X —==5 x:ﬁ/r::l/?f#.l,

3
2*33 545 1%
11.Factor and check: 8x® -

5. check [y~ Hx = +10X +2.5)
FX L1252 2H=SY X FIoX 135) Q‘,’ﬁéf 20K FIX-200-5 15

= x2S
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1-10: Simplify Square Roots And Find The Discriminant

No calculatoruse. Complete and get familiar with this table.

Integer | Square | Integer | Square
1 | 11 /1)
2 12 194
3 9 13 169
4 [ lo 14 [ 196
5 |as | 5 | 2285
6 3 16
195 | v Az
8 | G4 | 20 | 400
o |81 | 5 | Las |
10 100 30 900
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n n=> indeX
x X2 raJ\\‘CqY\&
V' 2 radical

Properties (true forall indices)

Jab =@ -io

|71
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SIMPLIFY SQUARE ROOTS

Write each of the following numbers in simplest radical form:

1. \lfﬂ =ﬁ -ré_ 2. \h_&. :@
V54 (¢ 3 1 JT
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FIND THE DISCRIMINANT
e
We know that standard form of a quadratic equationis _ AX "\"b)( H=0

The discriminant is a number formed from standard form of a quadratic
equationand equal to >-Yac . ( Par"‘ under radl ca_(
0 GBM&FCC‘( \C QO\’MU-(Q

Find the discriminant.

11. x2-3x+2:=0 12. %xz-b5x+c1’=0
0=\ b=-3 c=a D= b7 -Yac = a5 -4(3)(1
'D_;b:‘\'\\aQ: q"“(lx';) 'Dz ag__/g\ )

D =9-& -
D <) NED
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f\
13. 4x° —4><' -1

-y +) =0
b=b »%ac =16 -4®0)
= b-((

b@

15. x?-6x+9=0

September 18, 2018

14. x2=7 X 10x-7=0
Xt-7=
a=l bzO c=-7
=06- 4(0(-73
b—‘ O +3&
LEERD
16. 2x%2+4x=1
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Simplify the square root of each discriminant in the previous section.

D s
13{0 =O 14.@:/&%(/7:35

15. 16.

10
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